
 

 

ITI Computer Operator and Programming Assistant (Python) 
Module 4 DOS Command Line Interface & Linux Operating 

Systems 

 
(1). FSF stands for_____. | FSF का अथŊ है_____। 

(A)   File Server First 

(B)   Free Software File 

(C)   Free Software Foundation 

(D)   First Software First 

Correct Answer : C 

 

(2). Which one of the following is the wildcard character? | िनɻिलİखत मŐ से कौन वाइʒकाडŊ 
वणŊ है? 

(A)   * and / 

(B)   ? and / 

(C)   * and ? 

(D)   ? and @ 

Correct Answer : C 

 

(3). Which character is used to redirect output in to an existing file in Linux? | िलनƛ मŐ िकसी 
मौजूदा फ़ाइल मŐ आउटपुट को पुनिनŊदőिशत करने के िलए िकस वणŊ का उपयोग िकया जाता है? 

(A)   > 

(B)   >> 

(C)   < 

(D)   << 

Correct Answer : A 

 



 

 

(4). OSS stands for_____. | OSS का मतलब_____ है। 

(A)   Open System Service | ओपन िसːम सिवŊस 

(B)   Open Source Software | ओपन सोसŊ सॉɝवेयर 

(C)   Open System Software | ओपन िसːम सॉɝवेयर 

(D)   Open Synchronized Software | ओपन िसंŢनाइͅड सॉɝवेयर 

Correct Answer : B 

 

(5). You have recently installed a new disk drive in your Linux system. You wish to store a 
directory containing many data files used within your company on the new disk drive. Which 
of the following can be used so the change is invisible to users of the system? | आपने हाल ही 
मŐ अपने िलनƛ िसːम मŐ एक नया िडˋ डŌ ाइव इɌटाʒ िकया है। आप नई िडˋ डŌ ाइव पर 
अपनी कंपनी के भीतर उपयोग की जाने वाली कई डेटा फ़ाइलो ंवाली डायरेƃरी को ːोर करना 
चाहते हœ। िनɻिलİखत मŐ से िकसका उपयोग िकया जा सकता है तािक पįरवतŊन िसːम के यूज़र के 
िलए अ̊ʴ हो? 

(A)   cp 

(B)   mv 

(C)   hard links | हाडŊ  िलंƛ 

(D)   soft links | साɝ िलंƛ 

Correct Answer : D 

 

(6). Which character is used to represent parent directory in Linux? | िलनƛ मŐ पैरŐट 
डायरेƃरी का Ůितिनिधȕ करने के िलए िकस चįरũ का उपयोग िकया जाता है? 

(A)   . 

(B)   .. 

(C)   ~ 

(D)   * 

Correct Answer : B 

 



 

 

(7). Which of the following is an advantage of open source software? | िनɻिलİखत मŐ से कौन 
सा ओपन सोसŊ सॉɝवेयर का लाभ है? 

(A)   You can edit the source code to customize it | आप इसे कːमाइज करने के िलए ŷोत कोड 
को एिडट कर सकते हœ 

(B)   You need to be an expert to edit code | कोड को एिडट करने के िलए आपको एक एƛपटŊ  
होने की आवʴकता है 

(C)   You have to pay | तुʉŐ पेय करना होगा 

(D)   Can sometimes be too generic for specialist purpose | ˙ेशिलː उȞेʴ के िलए कभी-
कभी बŠत सामाɊ हो सकता है 

Correct Answer : A 

 

(8). Which DOS command is used to list all com files in D drive? | D डŌ ाइव मŐ सभी कॉम फाइलो ं
को सूचीबȠ करने के िलए िकस DOS कमांड का उपयोग िकया जाता है? 

(A)   DIR D :\ com 

(B)   DIR D :\ com. * 

(C)   DIR D :\ * .com 

(D)   DIR D :\ * com * 

Correct Answer : C 

 

(9). The first option of KDE desktop is in Linux _____. | KDE डेˋटॉप का पहला िवकʙ 
लाइनेƛ मŐ है _____. 

(A)   preference | ŮेफरŐस 

(B)   application | एİɘकेशन 

(C)   system | िसːम 

(D)   system setting | िसːम सेिटंग 

Correct Answer : B 

 

(10). Where is the user password stored? | उपयोगकताŊ का पासवडŊ  कहाँ ːोडŊ  िकया जाता है? 



 

 

(A)   /root/passwd 

(B)   /etc/passwd 

(C)   /root/password 

(D)   /etc/password 

Correct Answer : D 

 

(11). Which character is used to represent a range of values in Linux? | िलनƛ मŐ मूʞो ंकी 
एक ŵंृखला का Ůितिनिधȕ करने के िलए िकस वणŊ का उपयोग िकया जाता है? 

(A)   ( ) 

(B)   [ ] 

(C)   { } 

(D)   < > 

Correct Answer : B 

 

(12). Which filename will matches the command. DIR????T.TxT in DOS? | कौन सा फ़ाइल नाम 
कमांड से मेल खाएगा। DIR????T.TxT in DOS? 

(A)   TIME . TXT 

(B)   TEXT . TXT 

(C)   TEMP . TXT 

(D)   TEMPT . TxT 

Correct Answer : D 

 

(13). A software, coding of which is available freely on internet and is open for user for 
further use is called_____. | एक सॉɝवेयर, िजसकी कोिडंग इंटरनेट पर मुɞ ŝप से उपलɩ है 
और आगे के उपयोग के िलए उपयोगकताŊ के िलए खुला है, __________ कहलाता है। 

(A)   unlicensed software 

(B)   open source software 

(C)   free software 



 

 

(D)   community software 

Correct Answer : B 

 

(14). Which Linux command is used to sort the text file ‘network’ in descending order? | िकस 
िलनƛ कमांड का उपयोग पाठ फ़ाइल in नेटवकŊ  ’को अवरोही Ţम मŐ सॉटŊ  करने के िलए िकया 
जाता है? 

(A)   Sort / r network 

(B)   Sort - r network 

(C)   Sort + r network 

(D)   Sort \ r network 

Correct Answer : B 

 

(15). Which of the following is not open source software? | िनɻिलİखत मŐ से कौन सा ओपन 
सोसŊ सॉɝवेयर नही ंहै? 

(A)   Open Office | ओपन ऑिफस 

(B)   Windows 10 | िवंडोज 10 

(C)   Linux | िलनƛ 

(D)   Ubuntu | उबुȴु 

Correct Answer : B 

 

 


